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Unit 6a

7.1 - 7.4: Eixponential Growth & Decay
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Exponential Growth & Decay

y — acbx

b >1is growth
0 <b<1is decay

a = Vertical stretch of y = bx

b = growth factor: multiple by which y values are
increasing

asymptote - imaginary line that the function
approaches but never reaches
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Exponential Growth & Decay
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EXponentlal Growth & Decay
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Exponential Growth & Decay
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Exponential Growth & Decay
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Transformations: )y = abx_h +k

Va
x-2
y=2""+4
b > 1 is growth Parent FL,Jrnction

0<b < 1is decay Asy%;tzte o

b = growth factor Domaln
Q = @9, ax

h = horizontal shift Ran?e (& "@3 <—
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k = vertical shift
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y=(42"" -3
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Asymptote y=-3 -1

Domain(-o ,+\ D,

Range (—1 to) 2

Horizontal Shift R h+1
Vertical Shift Dyw, 3

Growth or




7.1 and 7.2 day1.notebook February 24, 2020

Parent Function
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How can you tell the difference between an
exponential growth or a decay?

Parent Function

x-6
f(x) = 3(411—) + 7 Asymptote
Domain
Range
f(x) = 3(2 )x+4 -5 Horizontal Shift
Vertical Shift

Growth or Decay
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